AGREEMENT FORM FOR NON-CANDIDATE/ISSUE ADVERTISEMENTS

HeartRadio	d Location: ko DA-FM	KTRH-1	<i>}m</i>	 A. A. A	ate : 17/18
Scott Tre	ıbıtz				<u> 1 Angle Care II an Angle Care</u>
o hereby reque	est station time conce	erning the foll	owing issue:		
refighter pay p	parity measure				
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
	(See Attached)				
otal Charg	jes:				
oes the pi	me will be used by:	ı whole or	in part) c	ommunicate	"a
nessage re	lating to any p	political m	atter of na	tional impor	tance?"
	Yes			No	

importance," i	ing that "communicates ist the name of the legal sought and the date(s) of	ly qualified candidate(s)	ny political matter of nationa) the programming refers to, licable):	l the
For programmin importance," at	ng that "communicates a tach Agreed Upon Sche	a message relating to an dule (Page 3)	y political matter of national	
I represent that	the payment for the abo	ove described broadcast	time has been furnished by:	
Support Our Fire 1907 Freeman S	e Fighters Political Action, Houston, TX 77009	on Committee James Campbell (offic	er)	
and you are auth furnishing the pa	norized to announce the ayment, if other than an	time as paid for by such individual person, is:	person or entity. The entity	r
a corporati	on; a committee;	an association;	or other unincorporated g	roup.
The names, office agents of the ent	ees, and addresses of the ity are named below (m	e chief executive officers ay be attached separatel	s, directors, and/or authorizedy):	d
THIS STATION I OF RACE OR ET	DOES NOT DISCRIM HNICITY IN THE PLA	INATE OR PERMIT D ACEMENT OF ADVER	DISCRIMINATION ON TH	IE BASIS
advertisement(s). F transcript, or tape,	y and hold harmless the 's fees, that may ensue for the above-stated browhich will be delivere the scheduled broadcast.	rom the broadcast of the oadcast(s), I also agree to the station at least	e above-requested	
	O BE SIGNED	BY ISSUE ADVI	ERTISER	
9/17/18	Scott Treibitz	70	93-276-2772	
Date	Signature		Contact Phone Number	
70	BE SIGNED BY	STATION REP	PRESENTATIVE	
Accept	red .	Accepted in Part	Reject	æd
Word W	nature Ro	Printed Name	Dinactor of Political	Sale



PRESIDENTPatrick "Marty" Lancton



FINANCIAL DIRECTORJimmy Campbell



housement of the first figures of the first figures

COMMUNICATIONS DIRECTORBrian Wilcox



DIRECTOR POSITION #1John Franco



DIRECTOR POSITION #2Mo Koochack



DIRECTOR POSITION #3Roy Cormier



DIRECTOR POSITION #4Robert Jackson



DIRECTOR POSITION #5Gabe Dominguez

Support Our Fire Fighters PAC - Yes to Prop B

9/17/2018



KODA-FM and KTRH-AM September

<u>Station</u>	<u>Days</u>	<u>Date(s)</u>	<u>#</u>	<u>Daypart</u>	Spot	Rate	M	Tu	W	<u>Th</u>	E	Spots	Total	Total \$\$
			Wks		Length						_	Per Wk	Spots	10141.99
KODA-FM	W-Th	9/19-9/20	1	6a-10a	60	\$700			V2	13		4	4	\$2,800
KODA-FM	M-F	9/19-9/20	1	3р-7р	60	\$750			w 2	2		4	4	\$3,000
KTRH-AM	M-F	9/19-9/20	1	6a-10a	60	\$650			1-2	1/2		4	4	
KTRH-AM	M-F	9/19-9/20	1	3p-7p	60	\$600			1/2	12		4	4	\$2,600
						7555	-	-	-	-2			4	\$2,400
KODA-FM	M-F	9/24-9/25	1	6a-10a	60	\$7\$0	1/2	\2/				4	4	¢2.000
KODA-FM	M-F	9/24-9/25	1	3p-7p	60	\$750	1/2	12				4		\$3,000
KTRH-AM	M-F	9/24-9/25	1	6a-10a	60	\$650	12	V2					4	\$2,800
KTRH-AM	M-F	9/24-9/25	1						!			4	4	\$2,600
		3/24-3/23	1	3p-7p	60	\$600	12	72				4	4	\$2,400

#60's 32

Gross:

\$21,600.00

Net:

\$18,360.00

KODA-FM and KTRH-AM October

<u>Station</u>	<u>Days</u>	Date(s)	<u>#</u>	Daypart	Spot	Rate	M	Tu	W	Th	F	Spots	Total	Total \$\$
			<u>Wks</u>		<u>Length</u>						_=	Per Wk	Spots	<u>10tar 99</u>
KODA-FM	M-W-Th	10/15-10/18	1	6a-10a	60	\$700	12		1/2	12		6	6	\$4,200
KODA-FM	M-W-Th	10/15-10/18	1	3p-7p	60	\$750	12		12'	2	-	6	- 0	
KTRH-AM	M-Th	10/15-10/18	1	6a-10a	60	\$650	12	2	2	2		0	0	\$4,500
KTRH-AM	M-Th	10/15-10/18	1			<u> </u>						8	8	\$5,200
		10/13-10/18		3р-7р	60	\$600	12	2	2	2		8	8	\$4,800

#60's 28

Gross:

\$18,700.00

Net:

\$15,895.00

60's

60

Total Gross

\$40,300.00

Total

Net

\$34,255.00

WIHEARTMEDIA Order Confirmation

Support Our Fire Fighters PAC c/o Tricom Associates Inc

2000 Clarendon Blvd #102

Arlington, VA 22201

Advertiser No: Start Date:

End Date: Month Type: Entered: Last Update:

Spl Req Inv: AE: Note: Note 2:

799736 09/19/2018

10/18/2018 Broadcast 09/18/2018 10:38 AM by Fusion 09/18/2018 10:38 AM by Fusion

WINDHAM, ROD

Page 1 of 5 Printed: 09/18/2018 11:37:31

Order No:

1318707666 Contract/Code #:

Co-op: Package:

No No

CPE: Revision #: Agency Comm.:

0 15%

Market Station	Bind To	Start Date	End Date		On Air S W. D		Skip W.	м	ΤV	VТ	F	s	s	Sp V	ots/ V.	Copy Group	Spot Len.	Priority Revenue Type	Rate	Ord. Spots	Ord. Cost
1 Houston	06:00-10:00	09/19/18	09/19/18	1	1	1	0		Х						2	1478071 18/SupportOurFirefightersPAC/60	60	500	700,00	2	1,400.00
KODA-FM 2 Houston	Commercial 15:00-19:00	09/19/18	09/19/18	1	1	1	0		х						2	1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-P 500	olitical 750.00	2	1,500.00
KODA-FM 3 Houston	Commercial 06:00-10:00	09/20/18	09/20/18	1	1	1	0			x					2	1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-P 500	olitical 700.00	2	1,400.00
KODA-FM 4 Houston	Commercial 15:00-19:00	09/20/18	09/20/18	1	1	1	0			x						1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-P 500	olitical 750.00	2	1,500.00
KODA-FM 5 Houston	Commercial 06:00-10:00	10/15/18	10/15/18	1	1	1	0	x							2	1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-Po 500	olitical 700.00	2	1,400.00
KODA-FM 6 Houston	Commercial 15:00-19:00	10/15/18	10/15/18	1	1	1	0	x							2	1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-Pe 500	olitical 750.00	2	1,500.00
KODA-FM 7 Houston	Commercial 06:00-10:00	10/17/18	10/17/18	1	1	1	0		x						2	1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-Po 500	olitical 700.00	2	1,400.00
KODA-FM 8 Houston	Commercial 15:00-19:00	10/17/18	10/17/18	1	1	1	0		x						2	1478071	60	Local Agency-Po 500	olitical 750.00	2	1,500.00
KODA-FM 9 Houston	Commercial 06:00-10:00	10/18/18	10/18/18	1	1	1	0			x					2	18/SupportOurFirefightersPAC/60 1478071	60	Local Agency-Po 500	olitical 700.00	2	1,400.00
KODA-FM 10 Houston	Commercial 15:00-19:00	10/18/18	10/18/18	1	1	1	0			x					2	18/SupportOurFirefightersPAC/60 1478071	60	Local Agency-Po 500	olitical 750.00	2	1,500.00
KODA-FM	Commercial															18/SupportOurFirefightersPAC/60		Local Agency-Po	olitical		



Page 2 of 5 Printed: 09/18/2018 11:37:31 Order No: 1318707666

Market Station	Bind To	Start Date	End Date		On Air S W. D		Skip W.	M	т	w	T	F	s	Spots W.	s/ Copy Group	Spot Len.	Priority Revenue Type	Rate	Ord. Spots	Ord. Cost
11 Houston	06:00-10:00	09/24/18	09/24/18	1	1	1	0	x							2 1478071 18/SupportOurFirefightersPAC/60	60	500	700.00	2	1,400.00
KODA-FM 12 Houston	Commercial 15:00-19:00	09/24/18	09/24/18	1	1	1	0	x							2 1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-Po 500	olitical 750.00	2	1,500.00
KODA-FM 13 Houston	Commercial 06:00-10:00	09/25/18	09/25/18	1	1	1	0		x						2 1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-Po 500	olitical 700.00	2	1,400.00
KODA-FM 14 Houston	Commercial 15:00-19:00	09/25/18	09/25/18	1	1	1	0		x					;	2 1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-Po 500	olitical 750.00	2	1,500.00
KODA-FM 15 Houston	Commercial 06:00-10:00	09/19/18	09/19/18	1	1	1	0			X				:	2 1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-Po 500	olitical 650,00	2	1,300.00
KTRH-AM 16 Houston	Commercial 15:00-19:00	09/19/18	09/19/18	1	1	1	0			X				:	2 1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-Po 500 6	litical 300.00	2	1,200.00
KTRH-AM 17 Houston	Commercial 06:00-10:00	09/20/18	09/20/18	1	1	1	0				x			2	2 1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-Po 500 6	litical 350.00	2	1,300.00
KTRH-AM 18 Houston	Commercial 15:00-19:00	09/20/18	09/20/18	1	1	1	0				x			2	2 1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-Po 500 6	litical 300.00	2	1,200.00
KTRH-AM 19 Houston	Commercial 06:00-10:00	09/24/18	09/24/18	1	1	1	0	x						2	2 1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-Pol	litical 350.00	2	1,300.00
KTRH-AM 20 Houston	Commercial 15:00-19:00	09/24/18	09/24/18	1	1	1	0	x						2	2 1478071 18/SupportOurFirefightersPAC/60	60	Local Agency-Pol 500 6	litical 600.00	2	1,200.00
KTRH-AM 21 Houston	Commercial 06:00-10:00	09/25/18	09/25/18	1	1	1	0		x					2	2 1478071	60	Local Agency-Pol 500 6	itical 50.00	2	1,300.00
KTRH-AM 22 Houston	Commercial 15:00-19:00	09/25/18	09/25/18	1	1	1	0		x					2	18/SupportOurFirefightersPAC/60	60	Local Agency-Pol 500 6	itical 00.00	2	1,200.00
KTRH-AM 23 Houston	Commercial 06:00-10:00	10/15/18	10/15/18	1	1	1	0	x						2	18/SupportOurFirefightersPAC/60	60	Local Agency-Poli	itical 50.00	2	1,300.00
KTRH-AM 24 Houston	Commercial 15:00-19:00	10/15/18	10/15/18	1	1	1	0	x						2	18/SupportOurFirefightersPAC/60	60	Local Agency-Poli	itical 00.00	2	1,200.00
KTRH-AM 25 Houston	Commercial 06:00-10:00	10/16/18	10/16/18	1	1	1	0		x					2	18/SupportOurFirefightersPAC/60 1478071	60	Local Agency-Poli	itical 50.00	2	1,300.00
KTRH-AM	Commercial														18/SupportOurFirefightersPAC/60		Local Agency-Poli	tical		•



Page 3 of 5 Printed: 09/18/2018 11:37:31 Order No: 1318707666

Market Station	Bind To	Start Date	End Date		On Air Sc W. Da		Skip W.	М	т	w	т	F	s	s	Spot	s/ Copy Group	Spot Len.	Priorit Revenue		Rate	Ord. Spots	Ord. Cost
26 Houston	15:00-19:00	10/16/18	10/16/18	1	1	1	0		x							2 1478071 18/SupportOurFirefightersPAC/60	60	500	6	00.00	2	1,200.00
KTRH-AM	Commercial																	Local Age	ncv-Pol	itical		
27 Houston	06:00-10:00	10/17/18	10/17/18	1	1	1	0			х						2 1478071 18/SupportOurFirefightersPAC/60	60	500		50.00	2	1,300.00
KTRH-AM	Commercial																	Local Age	ncv-Poli	ifical		
28 Houston	15:00-19:00	10/17/18	10/17/18	1	1	1	0			X						2 1478071 18/SupportOurFirefightersPAC/60	60	500		00.00	2	1,200.00
KTRH-AM	Commercial																	Local Ager	nev-Poli	itical		
29 Houston	06:00-10:00	10/18/18	10/18/18	1	1	1	0				X				:	2 1478071 18/SupportOurFirefightersPAC/60	60	500	•	50.00	2	1,300.00
KTRH-AM	Commercial															the apparent managinator (10000		Local Ager	nov-Poli	tical		
30 Houston	15:00-19:00	10/18/18	10/18/18	1	1	1	0			:	K				:	1478071 18/SupportOurFirefightersPAC/60	60	500		00.00	2	1,200.00
KTRH-AM	Commercial																	Local Ager	ncy-Poli	tical		
								-							No	o. of Spots/Misc/Digital: 60/0/	0			ered Gre	oss: nmission:	\$40,300.00 \$6,045.00
																			Orde	red Ne I Net D	t:	\$34,255.00 \$34,255.00

	Sep	Oct	Nov	Dec	Jan	Feb	Mar	Apr	Mav	Jun	Jul	Aug	Sep
Amount Ord: Gross: Net:	32 21,600.00 18,360.00	28 18,700.00 15,895.00	0.00 0.00	0 0.00 0.00	0.00 0.00	0 0.00 0.00	0 0.00 0.00	0 0.00 0.00	0.00 0.00	0 0.00 0.00	0 0.00 0.00	0 0.00 0.00	0 0.00 0.00

When signed below, this is a contract for advertising on the radio stations named above, made with the owner of those stations, subject to those terms and conditions beginning on the last page of this Order Confirmation. Except when this contract is executed by advertiser itself, it is agreed that advertiser's agency makes this contract both for itself and advertiser.

Accepted for Company:		Accepted for Advertiser:		
Participating Customers Support Our Fire Fighters PAC	100%			
Spot Rotation Spot Title		Spot ID Cart No	Length Duration	Rotation



Page 4 of 5 Printed: 09/18/2018 11:37:31 Order No: 1318707666

Spot Rotation Spot Title

COPY GROUP: 18/SupportOurFirefightersPAC/60

Spot ID 1478071

Cart No

Length Duration

Rotation